History of Philosophy: Renaissance through Enlightenment (650:103)
Handout on Aristotle’s On the Heavens
Basic principles of Aristotelian physics and cosmology (all of which will be rejected by 1687, the time of Isaac Newton’s Mathematical Principles of Natural Science):  

A. There are 2 fundamentally different kinds of motion: _______________ and _________________ (unnatural, accidental).  Only natural motion can be explained by a science.  Unnatural motion defies scientific explanation.

B. Natural motion can be explained only by an appeal to the _______________ cause (i.e., the end, goal, or purpose) of the moving substance.  In particular, the final cause of a body is to be in the natural place of the elements of which it is composed. 

C. The greater the _______________ of a falling body, the greater its _______________. 

D. Unnatural motion requires ______________________________ between the mover and the moved; this is not the case for natural motion.  Natural motion requires a ____________ of contact between the moving body and its final cause.

E. There are 2 _______________ – not just quantitatively – distinct _______________ of the universe: the terrestrial (=_______________) region, and the celestial (=_______________) region.  Corresponding to these 2 distinct regions are 2 distinct kinds of _______________: the terrestrial elements (earth, water, air, fire), and the celestial element (aether).  Also corresponding to these 2 distinct regions are 2 distinct kinds of _______________: _______________ (of substances composed of terrestrial elements), and _______________ (of the heavenly bodies).  

· The circular motion of the heavenly bodies is more _______________ than the straight motion of terrestrial bodies because it tends to be _______________.  This is because straight motion tends to stop when the body reaches its goal, i.e., to be in its _______________ place.  On the other hand, there is no single place that is “the” goal of circular motion; every point along the circle is a “goal” of circular motion.  Thus since circular motion can never reach its goal, it tends to continue _______________.

F. The earth is located at the ________________ of the universe.

G. The universe must be _______________ in size.  Synchronically, there is a first mover.

H. The universe must have _______________, and has always contained things in motion.  Diachronically, there is no first mover.

I. There can be no _______________, or vacuum.

